L VCE & PDF https://lwww.geekcert.com/1z0-819.html
' 2024 Latest geekcert 120-819 PDF and VCE dumps Download
: GeekCert.com

170-8199%As

Java SE 11 Developer

Pass Oracle 1Z0-819 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-819.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-819 Dumps | 120-819 VCE Dumps | 1Z20-819 Practice Test 1/6


https://www.geekcert.com/1z0-819.html
https://www.geekcert.com/1z0-819.html
https://www.geekcert.com/1z0-819.html

VCE & PDF https://lwww.geekcert.com/1z0-819.html
2024 Latest geekcert 120-819 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Given:

List<S8tring> listl = new LinkedList<String>():
Set«<String> hsl = new HashSet<String>();
HSrringl]l ® = 4% *bh Yat. BN, Mathe
for (String s: v) {

listl.add{=s);

hsl.add{s) ;

}
System.out.print (hsl.size() + ™ ™ + listl.size() + ™ ™);
HashSet hsZ2 = new HashSet (listl) ;

LinkedList listZ = new LinkedList (hsl);
System.out.print ths2.size() + ™ ™ + listZ.size()):

What is the result?
A.3533
B.3333
C.3535
D.5533

Correct Answer: A
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1 1import jova.util.*®;

Z import java.io.*;

3 import java.lang.Thread;

4 import java.util.Arraylist;

5 import java.util.lLinkedlList,

6 import java.util.List;

7 import java.util.function.Consumer;

& import java.util.stream.S5tream;

9 import java.util.stream.IntStream;

18 import java.util.Optional;

11

14

13 - public class Main {

14 ~ public static void main(String[] args) {

15 List<5tring> 1istl = new LinkedlList<5tring=(};
16 5et<3tring> hsl = new HashSet<5tring=();

17 String[] vi=-{'a"; "B";"e"; "B, "0"};

18 - for (5tring s: v) {

19 listl.add(s);
28 hsl.add(s);
£l }
&L System.out.printlnChsl.size() + "" + listl.size() + "[');
23 Hash5et hs?Z = new HashS5et(listl);
24 LinkedlList 1ist?2 = new LinkedList({hsl):
25 System.out.printChsZ.size() + """ + listZ.s1ze());
26
T 1
28 ¥

Result
CPU Time: 0.28 sec(s), Memory: 36204 kilobyte(s)
QUESTION 2

Given:
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class Employee {
String office;

}
and the code fragment:

5. public class HRApp {

6. var employee = new ArrayList<Employee>();
F & public var display() {

8 var employee = new Emplovee () s

9 var offices = new ArrayList<>():;

10. offices.add ("Chicago™);

11. offices.add ("Bangalore"”);

12, for (var office : offices) {

13. System.out.print ("Employee Location"+ office);
14. }

15: }

16. }

Which two lines cause compilation errors? (Choose two.)
A.line 12

B. line 6

C.line 9

D. line 8

E.line 7

Correct Answer: BE

QUESTION 3

Given:
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public class Main {
public static void main(String[] args) {
for(int 1 = 0; 1 < args.length; i++) {
System.out.println(i + ™). " + args[i]);
switch(args[i]) {

" ",

case "one":
continue;

L]

case "two":
r——7F
continue;

default:
break;

executed with this command: java Main one two three What is the result?
A. 0). one

B. 0). onel). two2). three

C. The compilation fails.

D. It creates an infinite loop printing:0). onel). twol). two...

E. A java.lang.NullPointerException is thrown.

Correct Answer: D

QUESTION 4

Given the code fragment:

var i = 1;
var result = IntStream.generate(() -> { return i; })

«limit (100) .sum() ;
System.cut.println(result);

Which statement prints the same value of result? (Choose two.)
A. System.out.printin(IntStream.range(0, 99).count());

B. System.out.printin(IntStream.rangeClosed(1, 100).count());
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C. System.out.printin(IntStream.range(1, 100).count());
D. System.out.printin(IntStream.rangeClosed(0, 100).map(x -> x).count());

Correct Answer: B

QUESTION 5

Given:

Iterator iter = List.of(l1,2,3).iterator();
while (iter.hasNext()) {

foo(iter.next ()):
}
Iterator iter2 = List.of(1,2,3).iterator();
while (iter.hasNext()) {

bar (iter2.next());

}

for (Iterator iter = List.of(l,2,3).iterator(); iter.hasNext(): )} {
foo(iter.next()):

}

for (Iterator iter2 = List.of(l,2,3).iterator(); iter.hasNext():; ) {
bar(iter2.next()):

}

[l = S S S S
TN, e Ll 1t 50 A0 R0 S LR L I e
Rt

Which loop incurs a compile time error?

A. the loop starting line 11

B. the loop starting line 7 C. the loop starting line 14
D. the loop starting line 3

Correct Answer: A
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